Pancake Screw —— 8 1/4"

(One) Each Purlin /7
Rake Angle
(SAT) \
b Purlin
= ya
O\ o pd
N
O o)
[
el —(2) 1/2” X 1 1/4" M. Bolt
By—Pass Endwall -a;\ (2) 1/ / olts
— S 5/8"% A325 Bolts
Endwall Column/ | (l-_Soerte_:unongqu[”)Elevotlon
(Shape Varies) y
/‘
End Rafter
Pancake Screw 4"
(One) Each Purlin R
Rake Angle
(SAT) l
/ Purlin
o pd
O\\ I}
O o}
—
(2) 1/2" X 1 1/4" M. Bolts
\ End Rafter
Flush Endwall

DRAWING NO.

Section Thru Rake at Cold—=Form Rafter SD1




' 5/8"0 A325 Bolts
(See Endwall Elevation
For Quantity & Length)

[

\ Coldform

1.3/4 End Rafter

\

Coldform
Endwall Column

1
I
5/8"(25 A325 Bolts
N (See Endwall Elevation
‘KFor Quantity & Length)

Coldform
End Rafter

\

Coldform
Endwall Column

DRAWING NO.

Cold Form Column to Cold Form Rafter SD?




5/8"9 A325 Bolts
(See Endwall Elevation
For Quantity & Length)

+

o
O

Coldform
End Rafter

\ E.W. Column

L
H
5/8"¢ A325 Bolts
i (See Endwall Elevation
‘KFor Quantity & Length)

Coldform
End Rafter

\ E.W. Column

DRAWING NO.

Hot Rolled Column to Cold Form Rafter SDA3




Endwall Rafter

Endwall
Cdumn_\\\\

3/4
‘,/{//*—‘(2) 5/8"8 A325 Bolts

— Endwall Rafter

21/2"

Endwall
Cdumn_ﬂ\\\\

I —— (2) 5/8" A325 Bolts

DRAWING NO.

Cold Form Column to Cold Form Rafter SD4

Created On: 2/14/20




Pancake Screw 1/4 Purlin
(One) Each Purlin |
Rake_ Angle _——|° ] ° <
(SAT)
@ O
= — = i
(2) 1/2" X 1 1/4 M. Bolts
W\ Hot-Rolled
End Rafter
o | o
Flush Endwall 5\\\\\\\\‘\“**\————5/8”¢ 2395 Bolts
(See Endwall Elevation
For Quantity & Length)
T Endwall Column
—N— (Shape Varies)
1'-0 1/4

Pancake Screw
(One) Each Purlin =~ ™|

Rake Angle _—

Purlin

(SAT)

By—Pass Endwall

Girt

@)

/

i

) (2) 1/2" X 1 1/4” M. Bolts
\ Hot—Rolled

el

End Rafter

T~ 5/8" A325 Bolts

(See Endwall Elevation
For Quantity & Length)

T Fndwall Column

(Shape Varies)

DRAWING NO.

Section Thru Rake w/Ho’r Rolled Rafter SD5




“WF” Section
End Rafter
7

3/4"

5/8"9 A325 Bolts
(See Endwall Elevation
Endwall

For Quantity & Length) Cohﬂnn_—\\\\\

Endwall
Cdumn_\\\\

- _+_
Cee Endwall Column Cee Endwall Column
Toes Toward Downslope Toes Toward Upslope

[——-- | [——-- |

“WF” Section

21/ M— 5/8"6 A325 Bolts 2 1/2
g 7 (See Endwall Elevation O e
I For Quantity & Length) v
Endwall Erdwal
Cdumn_\\\\\ Cdumn_ﬂ\\\\
DRAWING NO.

Cold Form Column to Hot Rolled Rafter SD6




Endwall
Column

“WF” Section
End Rafter

43/4”

5/8"¢ A325 Bolts
(See Endwall Elevation
For Quantity & Length)

“WF” Section
/ End Rafter

\—5/8"¢ A325 Bolts
(See Endwall Elevation
For Quantity & Length)

DRAWING NO.

Hot Rolled Column to Hot Rolled Rafter SD7/




Main Frame
Rafter \

Main Frame
Rafter \

5/8"¢ A325 Bolts
Interior Column — (See Endwall Elevation

4 | IN—5/8"8 A325 Bolts

For Quantity & Length)
w/ Flat Washers

Interior Column —— | (See Endwall Elevation

For Quantity & Length)
w/ Flat Washers

Hot Rolled Column to Mdain Frame Rafter

Created On: 7/22/11

DRAWING NO.

503




Endwall
Cdumn_\\\\

Cee Endwall Column

Main Frame
Rafter

3/4
5/8"¢ A325 Bolts /

(See Endwall Elevation
For Quantity & Length
w/ Flat Washers)

Endwall
Column

Cee Endwall Column

Toes Toward Downslope

Toes Toward Upslope

“WF” Section

21/2 T— 5/86 A325 Bolts 2 1/2"
gﬁ (See Endwall Elevation Ej Ej
4 For Quantity & Length) T
Endwall Endwall
Cdumn_\\\\\ ,//////////—_Cdumn_\\\\\\\\\\\
DRAWING NO.

Cold Form Column to Main Frame Rafter

503




4”

Pancake Screw 1/4"
(One) Each Purlin
Rake Angle Purlin
(SAT) xgﬁ_ _______ /_
o | o /
O
;_:_::_:_:—E::::: ’
[ (2) 1/2" X 1 1/4” M. Bolts
@%Flon e Brace
- 9
Main Frame Rafter
Pancake Screw 4

(One) Each Purlin

1,/4” Eave Strut

Rake Angle
(SAT) x
E::::::::::

E—" T rfP—=-—=——====
Cia
T 12X
M. Bolts
Main Frame Rafter —/.=;b=

DRAWING NO.
Main Frame Rafter Connection D9
PURLIN & EAVE STRUT CONNECTION

Created On: 7/22/11




1'-2" (VARIES)

Pancake Screw 1/4
(One) Each Purlin

Rake Angle Purlin
SA1 )
SHRE N S T [

o | o /
o
_______ e

|
(2) 1/2” X 1 1/4 M. Bolts

@%Flonge Brace

Main Frame Rafter

=z}

Pancake Sc 1’2" (VARIES
(One) Each Purli ( )

Rake_ Angle '
SN

Eave Strut

-"ﬁ"
T 12X
M. Bolts
Main Frame Rafter _

DRAWING NO.
Main Frame Rafter Connection SD10
PURLIN & EAVE STRUT CONNECTION

Created On: 7/22/11




|

Eave Strut ——=

Endwall Column /

b} ::ﬁ—
1/4 ~
Member Screw —

1/2" X 11/4
;E M. Bolts

11/4

(One) Each PurlN

e e ——

71 7

==

M. Bolts

\

Hot—Rolled
Endwall Rafter

Endwall Rafter

Eave Strut

— /’2” X 11/4"

Corner Column Connection WF Rafter/Column

Flush Sidewall

DRAWING NO.

5012




1/2” X 1 1/4”
Fave Strut ——=— /; M. Bolts

Endwall Rafter
Endwall Column /\_,.\,\

» ::ﬁ—
1/4 ~
Member Screw —

(One) Each PurlN

?SOK?) Angle _—

11/4” Eave Strut

7 T |

e 1
\ 1/2” X ,l 1/4”

M. Bolts

\

= Hot—Rolled
Endwall Rafter

DRAWING NO.
Corner Column Connection WF Rafter/Column

By—Pass Sidewall S D 1 3




”» ::ﬁ_
/4", >
Pancake Screw —~

(One) Each PurlN

ke e —— :

1 1/4” Eave Strut

%@?ﬁ\ "
1/2" X 1 1/4"
M. Bolts

Flush Endwal T~

S Hot—Rolled
Endwall Rafter

1'-0 1/4"

,]/4-"
Pancake Screw

/8] 14 Eave Strut
(One) Each PurlN

- I
Rake Angle—/ N
(SA1)
71 7 y
‘wm\_ !
1/2" X 1 1/4”
M. Bolts
By—Pass Endwall az;;:\\\\—___HOt—Rdmd

Endwall Rafter

DRAWING NO.

Eave Strut to Hot Rolled Rafter Connection SD14




Pancake Screw —— 8 1/4”

Rake Angle 1/4
(SAT) \
b Eave Strut
= v
/
~
By—Pass Endwall N (2) 12 K11
M. Bolts
L |
\~ Endwall Rafter
Pancake Screw 4"
Rake Angle 1/
(SA1)
/Eove Strut
e
N
AN
S (2) 12" X 1 1/4"
Flush Endwall M. Bolts
L |

\~ Endwall Rafter

DRAWING NO.

Eave Strut to Cold Form Rafter Connection SD15




1'~2"  (VARIES)

Pancake Screw 1/4
(One) Each Purlin

Rake Angle
(SAT)

o | o /

~

3/4 /
..qT’

Endwall Column/ —

(Shape Varies)

/T Purlin

i
(2) 1/2" X 1 1/4" M. Bolts

Flange Brace

\— Main Frame Rafter

Clip: CL-38
5}2)3”(25 A325 Bolts

(See Endwall Elevation
5/8”¢ A325 Bolts For Quontity & Length)

(See Endwall Elevation

For Quantity & Length) Main Frame Rafter
or Wuantity eng W /

s

N
%% xEndwoll Clip
CL-38

4" 4-"

Endwall Column —

i

WE Column to Main Frame Rafter Connection

Flush Endwall

DRAWING NO.

5020




Endwall Rofter7

Roof Purlin

CL-109_

(4)1/2°8 X 11/4”

s

M. Bolts RCLW

2 1/2"]

| O o |—

\ Endwall Rafter

Endwall Girt to Hot Rolled Rafter

DRAWING NO.

5045




} \ > \
3 \ <
O O /
2” 2”
Main Frame
Rafter
See Table
g /
E.W. Girt
e
x o /
Q 4-" /

Girt Clip
. (See Table)
Main Frame

Rafter
GIRT DEPTH CLIP DIMENSION
8" CL—107 1"-2"
10” CL—108 1"-2"
1"-Q" CL-107 14"

All Bolts are 1/2" x 1 1/4” A307 Bolt

DRAWING NO.

Endwall Girt to M.F. Rafter SD46




Roof Purlin

Endwall Rafter

L

m

ndwall Girt
2) 1/2”(25 X1 1/4"

—~

(2) 1/2°8 X 1 1/4”

Endwall Girt
M. Bolts ;

\ Endwall Rafter

GW-301

DRAWING NO

Girt to Rafter SD46




33w b3y
|
P o o L
o o]
, ) Flange Brace "
(4 Bolts Total) @’; | |
o (o]
ol =
Additional
Flange Brace
(As Req'd) 0 Al Flange Brace
’ ) " , ) 2-31/2" Lap
2-13/4"  k 2-13/4

£-31/2" LAP
(6 BOLTS TOTAL)

(6 Bolts Total)

Flange Brace

/
f 3-13/4"

6'-3 1/2" Lap

(8 Bolts Total)

N

Flange Brace

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Interior Bay Purlin Framing

DRAWING NO.

5050




	SD1
	SD2
	SD3
	SD4
	SD5
	SD6
	SD7
	SD8
	SD8A
	SD9
	SD10
	SD12
	SD13
	SD14
	SD15
	SD20
	SD45
	SD46
	SD46A
	SD50

